Maytag MFX80PNAVS 09 - OUTER SHELL ASSEMBLY

Maytag Commercial Maytag MEX80PNAVS Washer Parts Parts Diagram 09 - OUTER SHELL ASSEMBLY
Click on the part number to view part

Original Part Number Replaced By Part Description

001 23001827 Tub

" NLA Not Available TUB
002 23001292 Washer
003  NLA Not Available T
004 NLA Not Available RING, COVER FASTENING
005 23001591 Seal, Front Shield
006 NLA Not Available BOLT (M5X30)
007 23001597 Nut
008 23001640 23004485 Lock Washer M5
009 NLA Not Available BOLT (M6X60)
010 23001034 Not Available NUT (M6)
011 23001309 Washer Lu
012 NLA Not Available SO SCREW, TUB
013 23001757 Washer

014 23001303 Nut


http://www.pwslaundry.com/c-299409-commercial-maytag-mfx80pnavs-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7798121-maytag-23001827-washer-tub.html
http://www.pwslaundry.com/i-7797846-maytag-23001292-washer-washer.html
http://www.pwslaundry.com/i-7797993-maytag-23001591-washer-seal-front-shield.html
http://www.pwslaundry.com/i-7797998-maytag-23001597-washer-nut.html
http://www.pwslaundry.com/i-7798024-maytag-23001640-washer-washer-m5.html
http://www.pwslaundry.com/i-7799901-maytag-23004485-washer-lock-washer-m5.html
http://www.pwslaundry.com/i-7797856-maytag-23001309-washer-washer-lu.html
http://www.pwslaundry.com/i-7798091-maytag-23001757-washer-washer.html
http://www.pwslaundry.com/i-7797852-maytag-23001303-washer-nut.html

015
016
017
018
019

020

021
022
023
024
025
026
027
028
029
030
031
032

033

034
035
036
037

23001419

23001604

23001073
23001158
23002128

NLA

NLA

23001757

NLA
NLA
NLA
NLA

23001265
23001157
23002191
23002196

NLA

23002193

NLA

23001506

23002197

BLANK
BLANK

23002480

Not Available

Not Available

Not Available

Not Available

Not Available
Not Available

Not Available

Not Available

Not Available
Not Available

Lockwasher

Plug

Sensor, Temperature
Lockwasher

Washer, Spring

FRONTSCREW, TUB
ADJUSTING

NUT (M16)

Washer

SUPPORT, RINSE HOSE
CLAMP, RINSE HOSE
BOLT (M8X16)

WASHER (8.4)

Washer

Bolt

Element, Heating 80Lb
Protector, Cable

LABEL, “"HEAT WARNING™
Small Chemical Hose D10/14

CONNECTION, HEATING
ELEMENT

Clamp, Manifold

Med. Strain Relief Nut
SOCKET

PLUG (3/4™)


http://www.pwslaundry.com/i-7797914-maytag-23001419-washer-lockwasher.html
http://www.pwslaundry.com/i-7798476-maytag-23002480-washer-plug.html
http://www.pwslaundry.com/i-7797690-maytag-23001073-washer-sensor-temperature.html
http://www.pwslaundry.com/i-7797746-maytag-23001158-washer-lockwasher.html
http://www.pwslaundry.com/i-7798253-maytag-23002128-washer-washer-spring.html
http://www.pwslaundry.com/i-7798091-maytag-23001757-washer-washer.html
http://www.pwslaundry.com/i-7797823-maytag-23001265-washer-washer.html
http://www.pwslaundry.com/i-7797745-maytag-23001157-washer-bolt.html
http://www.pwslaundry.com/i-7798285-maytag-23002191-washer-element-heating-80lb.html
http://www.pwslaundry.com/i-7798288-maytag-23002196-washer-protector-cable.html
http://www.pwslaundry.com/i-7798286-maytag-23002193-washer-small-chemical-hose-d10-14.html
http://www.pwslaundry.com/i-7802293-maytag-596669-washer-dryer-clamp-manifold.html
http://www.pwslaundry.com/i-7798289-maytag-23002197-washer-med-strain-relief-nut.html

	Maytag MFX80PNAVS 09 - OUTER SHELL ASSEMBLY

